Hisaver Hibay V3 Luminaire

> ZRX

71 NLIGHTING

TRUSTED BY THE TRADE

RX Lighting Hisaver Stirrup Mount

Physical Dimensions:

250mm

162mm

=3

==

Q@22mm”  @18mm”

11mm

7]

o) o=

¥ 5
—_=‘rnn§—_
’ % & JLLLOR =5
o o 2277 TR
T B el
REXHBPCREFDIF
B
Part Qty
Reflector 1
Lens Base 1

Screw B4x12 3
Screw ©3.5x8 1

Please check all parts are included in the kit before
assembly begins.

M4x12
x3

1.2N.m
Install the diffuser body to the Hibay using
the 3 screws. M4 x 12mm long

Align the lower diffuser cover by matching
the 3 twist clips and the lock screw hole positions

El

M3.5x8
x1

0.8 N.m

Push the cover into the body and then rotale in a clockwise
direction until the clips lock in place. Check the lock screw
holes are aligned and then insert the M3.5x8 screw and
gently tighten. 0.8N.m max

e k- — —-— ——

REXHB90ALIREF 1 1
! @) )
/:W : 2. .
E 1 Ry !
E i s '
1 <J 1
I \
2393mm ! ”*E‘E;‘h#”.;ﬁ"‘ I
1 -
1 \_/ !
1
. ; l
- M4x10 i
1 x3 I
1 : !
1 A 12Nm |
i o
___________ D _i"‘_m_-'*"_"’__.____.____l
|
N |
| piMemA1 = purple purple bl brown
1 g or-l or-{ = 1:;r-l |
| DIM-DA2 ™ _gray ™ pink o white o blue |
i {
I @ !
L 4 brown black | p+DA1 ™ purple = purple = purple :
= | omeoaz o oy  or ink  OF gray Warning! Do not wire dim cord to high
N '@ | o i = g K " = : voltage (230V) or luminaire and / or dim
©GND ={yolowigreen green | _1zveee L PR MW AR 3 function will fail.

« If the external flexible cable or cord of this luminaire is damaged, it shall be exclusively replaced by the manufacturer or his service agent or a similar qualified

person in order to avoid a hazard.

MNama N



ZRX
Hisaver Hibay V3 Luminaire 7nSLIGHTING

Installation Instructions

REXHISLED200WV3 - SUSPENDED
REXHBSCHAIN1.5M - Suspension Chain - Stainless Steel Welded Link 1.5m Long
If Suspension Wire or alternative chain is used it must be able to carry 6.5KG Minimum load
LA e el ol ol ol il ol ol i

REXHISLED200WV3
Physical Dimensions;

@25mm

LA
2777 NN

T S L S

177mm

W-Wide beam
M-Medium beam

N-Narrow beam

| Adjustable power

| CAUTION:
I
1

Ensure power is off at the luminaire
before adjusting the DIP switch.

the DIP switch.
Please adjust the switch gently.

REXHISSENSORV3 - Motion Sensor 4
REXHISREMOTEV3 - Remote Control for sensor setting —_— =
REXHISCASMMOD - Casambi Ready Wireless Control Module REXHISCASMMOD

% !%_ L] i
REXHISSENSORV3 - l"ﬂ X ‘ g i
.-///.;uhﬁmiijiliﬁ i

[
-

Suspension Mount

A Make sure the screws are lightened

2277Vl

Page 1



